Chapter 9 Study Guide
1. Suppose that an excess of C3H8 burns in 10.00 g of O2. How many grams of CO2 will be formed?

                                            C3H8 + 5 O2 → 3 CO2 + 4 H2O

2. In the formation of carbon dioxide from carbon monoxide and oxygen, how many moles of carbon monoxide (CO) are needed to react completely with 10.0 moles of oxygen gas (O2)?

                                              2 CO (g) + O2(g) → 2 CO2 (g)

3. A chemist performs the synthesis of sodium chloride from its elements. The chemist begins with 10.0 grams of sodium (Na). How many moles of chlorine (Cl2) are needed?

                                                    2 Na + Cl2 → 2 NaCl

4. 6.00 grams of magnesium (Mg) reacts with an excess of sulfuric acid. How many grams of hydrogen (H2) will be produced?

                                               Mg + H2SO4 → MgSO4 + H2
5. In the formation of carbon dioxide from carbon monoxide and oxygen, how many grams of carbon monoxide (CO) are needed to completely react with the 7.0 moles of oxygen gas (O2)?

                                            2 CO (g) + O2(g) → 2 CO2 (g)

6. Assume that 4.5 moles of Al2(SO4)3 reacts with an excess of barium chloride solution. How many moles of barium sulfate (BaSO4) are precipitated?

                              Al2(SO4)3 + 3 BaCl2 → 2 AlCl3 + 3 BaSO4
7. 4.00 grams of magnesium reacts with an excess of sulfuric acid. How many moles of magnesium sulfate (MgSO4) can be recovered from the solution?

                                           Mg + H2SO4 → MgSO4 + H2
8. How many grams of sulfur trioxide (SO3) are required to produce 6.00 mol of H2SO4?

                                           SO3 + H2O → H2SO4

9.   Sulfur dioxide can be produced in the laboratory by the reaction of hydrochloric acid and  a sulfite salt such as sodium sulfite.  What mass of SO2 can be made from 25.0 g of Na2SO3? 
Na2SO3 + 2HCl  (  2NaCl + SO2 + H2O
10. If you start with 20 grams of hydrochloric acid, how many grams of sulfuric acid will be produced?
                                    2HCl + Na2SO4 (  2NaCl + H2SO4
11. What mass of NH3 can be produced from 25.0g nitrogen gas and 25.0g of hydrogen gas?   How much of the excess reactant is left over?

N2 + 3H2  2NH3
12. If only 15.6 grams of ammonia is produced in question #11, what is the percent yield?

13. What mass of hydrogen gas can be produced from 50.0g of magnesium and 100.g of hydrogen chloride? How much of the excess reactant is left over?




Mg + 2HCl  MgCl2 + H2
14. If you were only able to collect 2.50g of hydrogen what is the percent yield?
